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SECTION - A
Question 1
Choose the correct option. (1x 15)

1) Thevalue of : 3/0.125 + 3
(a) 8 (b) 3.5 (c) 35 (d)0.35
2) Cards are marked with numbers 1 to 16, are placed in the box and mixed thoroughly.

One card is drawn at random from the box. What is the probability of getting an even

number?
(2) 10/16 (b) 7/16 (‘5) 1/2 (d) 1/16
3) The square of 0.9 is
(a) 8100 (b) 0.081 (\9 0.81 (d) 0.0081
=16 =3 . :
4) The value of SN 5
-3 =7 4 =7/
S ) 93 @ =

w5 el

e inPhagoren il 512

(d)7

(d) 60




8) ~-50x 3.2
) 50){ YZZ+‘5XyZ=

(a) 1 OXyZ @5 lezyZ (C) -1 OXZ)’ZZ (d) -1 Oxzyz
9) Value of (22 — sby2is

2+ 25b%— 20ab
()4a2- 25 (b) 2a%— 5b2+10ab  (c) 4a>—25b”—20ab «dj 42’ + 25

10) If xy = 15 and x + y = 7 then the value of (x2+y?) is

(@ 8 \;b) 19 (c)22 (d)73
: 8 =0,
11) The sum of the rational numbers % and e
-5 7 20 &
@ -, ®— W @) =
12) Point (7, -2) lies in the quadrant:
@I @O (c) Ir (DIv
13) From the word"MATI:I-EMATICS’, a letter is chosen at random. The probability of
getting a vowel is :
(@) 3/11 (b) 5/11 (c)4/11 (d) 1/11
14) Find the smallest number by which the number 250 must be divided to obtain a perfect
cube.
Jaf 2 ®)3 (c)4 (d)s.
15) The range of the data: 32,41,28,54,35,26,23,33,38,40 is
@ 24 ®)y & ©15 ()30
Question.2

(@) 30 slips of paper containing numbers 1 to 30 are placed in a bag. One slip is taken

out atrandom. What is the probability of the number of being :

i)a perfect square ii) a multiple of 5
(b) Find the square root of 7056 by prime factorization.

(c) Subtract 3x +2y — 4z from the sum of 7x + 4y - 3z +2 and 2x - 3y+5z-3.

.(d)Divide : 30x’y> — 20xy® + 25x%y + 45xy by — 5xy
(¢) Find cube root of 5832 by prime factorization.

(2]

2]
(3]
(2]
(3]



Question 3

(@) Find five rational numbers between -4/5 and -2/3 2]
®) Ifa-b= S, a? t_l_)_z =37, find the value of ab ¢ ¢
(¢)For equation : ¥ =3x+2, Complete the given table to find co-ordinates: (2]

X -2 -1 TR
¢

(d) Amange given rational numbers in descending order: 3]
%3 ZB: .3/4: 4/5 5
(®)The following data shows the number of student in various hobby classes in 2
School. Represent the given data by a Pie Chart. (4]

Hobby Computer | Painting | Pottery | Handicraft | Glasswork
No. Of students | 180 150 27 75 108

SECTION - B [40]
[Attempt any four questions]

31

21
21

2
2]

B31
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Questioy, 6

_ [2]
(a) Simplify. ?5 + % + :1;1.
1

[2]
) Evalyate. V108X 75

. 3
(¢)What js the smallest number by which 4116 must be multiplied so the pr{)du(;’t [
Odtained s a perfect eype? Find the cube root of the perfect cube so S

(d) Divide : (14x° - 5x2 4 95 =/@x-1)

[3]
Question, 7
implify : 3 x 35 4 10 3
(a)Simplify : S X (: Tt [3]
(b) Find the Square root of 544.7556 by long divisjon method., [3]
(c) What is the probability when two dice are rolled » of getting [4]
1)Same number op both. i) both are éven number
1ii) sum is equal to 10, ~ 1v) product of numbers js ]2,
V=192 B=12x -13y+19, 5 C=T7x -6y 215 ‘[3]
Find: A+B. ¢ ;
har ents the marks scoreq by a students. If pe

: [3]
Dg questions:
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(c) Draw the graph of followin

% , & pairs of lines and find the point of intersection,  [4]
- y = _ ;

X+y=34
Question. 9

(a) Mention ¢ i
n the Co-ordinates of points A, B, C, D, E, F by observing graph.  [3]

i

i
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31
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(b) Solve -
Kl
(c) Solve ;
- [4]
(b =% + b2 (c? - g2) 4 2 (a’ - b?)

Iemaining are girls. I chosen

s 2]



(b)
What Must be added to %3 to get %7 [2]

3]

[3]
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> This questions paper consises of (4] pages
SECTION - A [COURSEBOOK]

Question 1)
A') Choose the correct answer to fill in the blanks: (4]
i) Twenty years ago, the narrator was living in

a) France ¢) Paris

b) Spain d) England
i) The cheapest dish which the narrator ordered for himself was

a) cavier b) mutton chop ¢) salmon d) asparagus
i) Michelangelo heard voice in the Old Testament,

a) Judas ¢) Jesus

b) Virgin Mary d) Angel Gabriel
iv) proclaimed that he created faces from his imagination,

a) Bramante : ¢) Michelangelo

b) elm d) citrus

B) Complete the following sentences: [4]
1) The horse thought that it was strange as
a) The poet started laughing
b) The poet admired the beauty of the nature
¢) The poet stopped suddenly
d) The poet was busy talking

i) The message given by the lesson “Michelangelo” is
a) Your efforts are always wasted
b) Your deeds should be sinfi]
¢) You should aim for the sky
d) Your deeds decide your character

iii) If the narrator’s friend didn’t eat asparagus
a) She would be sorry to leave Paris without having some of them.
b) The narrator would be angry with her,
¢) She will starve,
d) She will have to come there again to eat,



i
V) The Storm feels sore ag

a) It always asks for a favouyr,
ope is always s]eeping
¢) It never tells lie,
It cannot embarrags Hope.

Gi : "
©) Give meanings for the following words and frame sentences with minimum of ten words[10]

) Vividly b) eccentric  ¢) startled d) sauntered e) forlorn
Question 2)
A) Answer the following in one sentence: [4]

i) What is referred as the storm that could abash Hope?

ii) Why was the narrator not able to drink champagne?

1ii)Why was the narrator not able to take his friend for the luncheon earlier?
iv)With whom did Michelangelo compared the face of the Pope?

B) Answer the following: )|
1) What was the only thing narrator would do if he or his friend would not able to pay the bill?

ii) Why do Michelangelo love stone and not canvas and colours?
1ii)What special task did the Pope assign to Michelangelo?
1iv)What did the narrator’s friend eat at the restaurant?

Question 3)

Refer the context and answer the following questions:

a) “I’ve heard it in the chillest land — And on the strangest Sea —
Yet—never — in Extremity, It asked a crumb — of me.”
i) Where is the tune heard? What does it do to the people who hear it? 2]

i) What does it mean by- Yet — never — in Extremity, It asked a crumb — of me? 2]

b) “I couldn’t possibly eat anything more — unless they had some those great asparagus.”
1) Why did the narrator panic when the asparagus was ordered? m
ii) What did the narrator think about the bill? [2]

¢) “It will make you immortal, I promise” - % o .
1) Explain any two characteristics which made Michelangelo think that Marsolini is the nght[z]

choice for the face of Judas? . !
ii) Make sentence of your own using the word: - immortal



Date,

>
>

Question 5) ol

1v)  Regular, plodding, common, banker

06

SECTION - B [ Reading Ventures]
Question 4)

A) Choose the correct answer to fill in the blanks: 4]

1) The last man died becayge of his

a) Anger ¢) poverty )
b) selfishness d) racial discrimination

i))The author had his first lesson in .
a) hand grenade c) musketry

... o) rifle training d) cooking

1i)After coming out of prison, Jimmy went to the café of

a) Mike Dolan b) Billy ¢) Ben Price d) Mr Adams
iv)Unobserved by the elders, in a spirit of play, was shut in the vault.

a) May b) Annabel ¢) Ralph d) Agatha

B) Identify the characters with the help of their qualities: [4]

i) Long jumps, quick get-aways, no confederates, a taste for
a) Jimmy Valentine b) Mike Dolan

ii) Lanky, stooping, badgering, condescending

good society
¢) Ben Price d) Annabel

a) Sergeant b) Corporal Turnbull ¢) Platoon Officer
iii) Eminent, rogue catcher, overpowered, clever

a) Billy b) Warden

d) Private Quelch

¢)BenPrice g Jimmy Valentine

a) Ralph Spencer - b) Mr Adams c) Agatha d) Clerk

151
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Questigy, 6)

.‘\ ' J '

). Refey 0 the context ypg mswer (o questiony glyoy below:
“)_ “She Will dig of frighy) Open the door! Oh,
't the door e opened?

brenk (¢ opent ,,,..”
elerred here?

(2]
(2]
ould My Spencer decide 1o locate in Elmore? [2]
b) “The logs helg tight in deagyyg SUI hangg
a8 proof of human sin,
They didp 't die from the cold Without,
They dieq from the cold within,»
1) Explain the phrage- cold withoyt [2]
i) Write any two “human sin” referred in the poem? [2]
i) Make 4 Sentence using the word: proof [1]
©) ‘T’ve decideq that Private Quelch jg Jjust the man for the job.”
1) Who js the speaker? [1]
1) Which Job is the Speaker referring? [1]
B) Write the character sketch op; (Any two) [6]
1) Private Quelch
ii) Jimmy Valentine

1ii) Seargent
1v) Ben Price
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SECTION A
(Attempt ALL questions from this section)

Question 1:

Choose one correct answer to the questions from the given options: [15]
i) Formation of a compound is _ ‘

a) temporary change b) physical change ¢) chemical change d) reversible change
ii) Which of the following is a rnan—r;iadc, chemical, desirable and fast change?

a) Rusting b) Burning of a candle ¢) Fermentation d) Curdling
iii) Which is true regarding the solid mode]?

a) There are strong forces of attraction between the particles.
b) The particles move around freely.

c) There are great open spaces between the particles.
d) The particles move great distances before they collide.

iv)Particle with positive charge is known as

a) anion b) cation ¢) anode d) cathode
v) According to kinetic theory, particles of matter are in motion in

a) liquids only b) liquids and gases only  c¢)gases only d) solids, liquids, gases
vi) Which of the following methods is used to Separate common salt from sea water? ~

a) Sieving b) Evaporation c) Sedimentation d) Winnowing

vii) The symbol of Phosphorus is

a)P b) Ph c)K d) Po
viii) The physical state in which diffusion does not take place is
a) solid b) liquid C) gas d) all of these

ix) rating funnel is used to separate

sand and water b) components of air  c) sugar from sugar solution d) oil and water.

[1]




Iy ‘

X) The S, .
Mallest up;; of matter that can take part in chemical reaction

d x
a d) compourt
y ) element b) molecule c) atom ) ;
) In chemical chan /
ge, S~
. bstarlce Change
a) change jg reversible b) molecules of su ‘
- ©) molecules of substance do not change d) substance remain Sam
Xii) Freezing s o process of converting
8) solid to gas b) liquid to solid  ¢) solid to liquid ~d) liquid to &35 )
Xiii) Which - - - ixture of ammoNum
iuch of the following method is used to separate ammonium chloride from m
chloride and sodium chloride?
a) Sublimation b) Evaporation c) Dissolution d) Decantation
o Xiv) Law of conservation of mass states that during a chemical reaction,
a) mass remains unchanged b) volume remains unchanged
¢) temperature remains unchanged d) pressure remains unchanged
xv) Protons and neutrons together are called
a) nucleus b) atomic number c) atomic mass d) nucleons
Question 2:
i) Give scientific reason: 5 51
a) Liquids evapotate on heating.
b) Atom is electrically neutral.
c) Copper is a metal.
d) Iginetic energy of particles is least in solids.
e) Inflating of balloon is a physical change.
ii) State whether the followi g statements are true or false. Correct the false statement: {41

121

13)
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| - fespecl to the diagram given:
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1.

a) Identify the s
particles,

tates of matter ii) iii) on the basis of arrangement of

b) Arrange these states of matter in

descending order on the basis of intermolecular force of
attraction. > s ¢

c) Wl;lcl; of the following substances has minimum intermolecular force of attraction: air, table,
water?
vi) Solve the following numerical:

a) The number of electrons in an element is 13 and neutrons are 14. Find the number of protons

anditsmass number. S
b) If 19 g of magnesium on burning using oxygen forms 27 g of magnesium oxide, calculate the
amountof oxygen consumed. Also state the law of conservation of mass. Y
vii) Name the separation technique involved to separate the following mixture: [2]
a) Iron filings, sand .
b) Salt, sand, rice grain
SECTION B
(Attempt Any Four questions) .
Question 3:
i) Distinguish between: : [4]
a) Atomic number and Mass number based on-
1) Definition =~ 2) Letter by which it is denoted
b) Solid and Gas using 1
| 2) Compressibility
(2]
melts. What type of change is this?
b) Desirable change ' Bolmigaants

b) Liquefaction 2l
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Cmm—m- -

' separate COmponents of a mixture?
l‘epn:sented as 16x8 :
S

[Give 2 points] el
Bl
) Which o

. Ment js Mentioned in the Question?
®) Write its

Mumber of Protons,

®) Give the SYmbol of this elemen;.
) Answer the following:

8) Ammonia gas js formed by
b) Fermentatiop of dough can
¢) What is melting point?

Combination of twq gases: and

be classified into how fnany types of changes? (minimum 2)

Question 5:

1) Give difference between
ii) ‘A’ and

inter particle collision and elastic collision.

21
‘B* are two liquids. Answer the following questions based on the given diagram:

Bl

s controls the flow of liquids?

e -

etal with one example. Bl



ii) What is evaporation? Describe any two factors affecting evaporation.

3]

1ii) When an atom gains electrons it forms (positive / negative) ion ¢a 2]
(cation/anion).
iv) Match the techniques with their principle: Bl
Technique Principle
a) Evaporation 1) Difference in physical appearance
b) Handpicking 2) Difference in magnetic property
¢) Sedimentation and decantation 3) Difference in volatility of components
4) Difference in weight and solubility
Question 7:
i) Why burning of candle is both physical and chemical change? (2]
€]

ii) Fill in the blanks:

a) Ripening of fruit is anirreversible
crackers is (slow / fast) change.

b) Different solids have forces of attraction. (same / different)

c) Toothpaste is an example of (suspension / colloid).
iii) Which sub-atomic particle helps in identification of an element? Why?

iv) State the type of mixture for the following examples from the help box:
[solid-solid, gas-liquid, solid-gas, gas-gas]
a) Carbon dioxide in soft drinks - b) Air ¢) Smoke

Juestion 8:

Occurrence of thunderis change. (periodic/non-periodic). Why?

anddecantatlon, the component that settles down is called
lled the

us and heterogeneous mixture.

elong to pure substance and mixture?

(slow / fast) change, whereas bursting of

[2]
B31

(21

and the
[2]

(2]
4
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SECTION I

(Attempt ALL questions from this section)

Question 1. Choose the correct answers to the questions from the given options.

(Do not copy the question, write the correct answers only.)
(i) Force can cause a:

(a) Stationary object to start moving

(b) Moving object to change its speed

(c) Moving object to change direction
(d) All of these

(ii) What does weight measure: -

(a) Size
(b) Mass
(c) Force
(d) Volume

(iii) Jony has mass of 50kg. What is his weight on earth?

(@5N
(b) SON
(c) S00N
(d) 5000 N
(iv) The pressure exerted on the object increases when surface area
a) increases | —
b) decreases
c) either increases or decreases
d) none

[15]



) yre
) Ulnt of density is:

(2) k.

)N g m/s

(0) J/S -
(d) None of these

(vi) A body of density p sinks in a liquid of density p. The densitics p and py are related as:

@ p=pL
f ®) p<pL
© p>pL
(d) Nothing can be said.

(vii) Kinetic energy of a moving object is 100 J. If its speed is doubled, then its kinetic energy will
become

2)200]

b) 400J

)50J

d)257]

(viii) Two balls, one of iron and other of aluminium experience same up thrust when dipped in water
if:

—

(a) Both have equal volume
(b) Both have equal weight in air
bth hav equal density

9P=hd  d)P=mgh
 are provided in a heavy truck. This is done




/

i) Assertion: A man could swim in sea water easily tl

Reason: As sea water is salty it provides more upthrust and hence sW

han in fresh water

imming 18 €45Y

of assertion. y
on.
not at al correct explanatlon for assertl

orrect explanatlon of assertion.
£ assertion.

(a) both assertion and reason are true and reason is correct €

(b) both assertion and reason are false and reason is
(c) assertion is false but reason is true but reason is €
(d) assertion is true reason is false and it is not correct explanatlon o

Energy that acts on rock climber is

(xiv)
d) no energy

a) kinetic energy  b) potential energy ¢) gravitational potential energy
(xv) Boiling point of any liquid changes with,
a) impurity
b) atmospheric pressure
c) type of liquid
d) All of these
Question 2
(i) Differentiate between, [4]
(a) Gravitational Potential Energy and Elastic Potential Energy

(b) Cohesive force and Adhesive force

(i) Which physical quantities are represented by the SI units (a) Nm and (b) Joule? - 2]

,,,,, ok Why this saline bottles or blood transfusion bottles are always

which a refrigerator works? (2]
: (2]

B3]



[2]
1) Wi ; ?
(V) With the help of flow chart tell s from where does the energy to Tun @ ¢ar ggse
Question 3
. (2]

(i) () Arrange the following in increasing order of their relative dcqsitjes:_ Iron, air, water
(b) The relative density of a substance is greater than 1. What does it signify?
(ii) Solve,

(2]

(a) A woman does 500 J work for 5 minutes. Calculate her power.

(b) Calculate the work done by a porter holding a suitcase weighing 5 kg in his hand. Support your anSWCEZ]

by giving suitable reason. .

(c) A moving body of 40 kg has 180 J of KE. Calculate the speed. . [2]

(d) A child opens a 1.5-metre-wide length door by applying a minimum force of 2 N. What is the moment of

force required to open the door? [2]
SECTION II

(Attempt any four questions)
Question 4
(i) (a) Observe the figures given below carefully. [2+1]

T2 FEERZES
FEi

Volume of water in each vessel is shown above. Arrange them in order of decreasing pressure at the
base of each vessel. Explain the reason.
(b) Liquids exert same force in direction

(ii) () You can fill bucket from a down stairs tap quicker than from an upstairs tap, Why? [2+1]
(b) Wite two factors on which Liquid préssure is dependent on.

(iii) (a) If you swim beneath the surface in salt water, will the pressure be greater than in fresh water at the
same depth? Give reason for your answer. (4]




‘ Observe the diagram given and answer, whether pressure of

s Teason to support your answer,
Question 5
2 | [1+141]

(b)Whyﬂrprmmofthealmosphmdoqnmbmkglasswindows?
(¢) The foundarion of high-rise buildings ae kept wide,
(u)(a)Calmlmeﬂzmmexmedbybloekonmerable.Weijkl:=400“

g

e =
R =7 <

B
Lo

(b)Enﬁnfacthaﬁ'ecﬁngmomemoffmce.
(iii) Solve.

[2+1]

[4]

(a) = A box weighs 150 N and the distance from the
box to the pivot is 30 cm, calculate the moment of force about the pivot.
(b) An elephant weighs 25,000 N stands on ground of area 4000 cm”. How much pressure would it exert

on the ground?
Question 6
(i) (a) Define the law of conservation of energy.

ctric kettle of power 2 kW is used for 1 minute. Find the energy supplied by the kettle.
vork done in pushing a trolley by applying a force of 850 N is 1275 J, calculate the

‘moved by the trolley. 3]
(ii) (a) Define Mechanical energy. (1

(b) Difference between: Work and Power for parameters ST unit and storage. 2]
(iii) Solve. : [4]




QueSﬁon 7

@) @) What
” do YOu megp by force of Cohesion? Give one example of it,
(®) Soft g :
ft drinkg are cooled by Placing them jp, ice rather

e A than water af 0°C. Why? [2+2]
Ut and provide reasop 10 your answer (2]

(2) Moth ball, Iodine, Dry jce, 1ce |

(b) Plasmg, EBC, Cohesion, liquig

(iii) Explain why? [4]

(2) When the rivers and lakes start freezing the Weather becomes warm,
() Mercury does Dot wet wood, whereas water does.
Question 8

a

g 1 € € Of 1ven mfclrll 1on and 1 tuIe IO 'lded ﬁnd the deI]SIt’ Of

(2]
stone. | | : 3
(b) Relative density of substance remains the same in both SI and CGS units. V\]hy e .
| by convection? Explain how hot air balloon works on this principle’
(ii) What do you mean by co ? _ .

ii D think ent volum W ity? Why or why not?
: y ink diff ater always have the same densi
e - Oflfth iron i 0 kg/m?® and of water is 1000 kg/m’. 2]
the relative density of iron, If the density of iron is 8500 kg/
(b) Calculate the rela; |
| i i (3]
o i i a diagram.
uE in th rsion of energy in the oscillation of a simple pendulum using iy
: : i | |
(1) Explain the conve f ratings 2kW and 4kW. Which one will you use if you want ot
ii two geysers o11a
(ii) (a) There are

water to get heated fast? Why? e
ightly drawn
ind of energy does a tig
(b) What kin
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1. Answers to this Paper must be written on the paper, provided separately.

2. You will not be allowed to write during the first 15 minutes. This time is to be

Spent in reading the question paper. The time given at the head of this paper is
time allotted for writing the answers,

3. This paper consists of 6 Pages.
4. The intended marks for questions or parts of questions are given in brackets [].

(R

Question 1.

Write a short composition in Hindij

of approximately 250 words on any one of the
following topics:

[15]

ﬁm@aﬁwﬁﬁﬁMwﬁwwﬁzﬂﬁmuﬂ o | H iz ag
fafae)

(i) Wﬁ?ﬂﬁmeﬁve{aﬂaq@ﬁﬂmm%wwwmﬁm
ﬁaﬂgqqa-ﬁﬁﬁamavhaﬁml

(i) R TR -mmﬁﬁmﬁmﬁgwmﬂ%wm
ERIEY)

(i) B B 1 ot 2y guig 310 Mec & HIRT |

(iv) Wﬁﬁmﬁmﬁr@uﬁmeﬂmﬁum%uﬁmﬁaﬁﬁhﬁ,ﬁ
LIEXERIHG -

(v) %mﬁaﬁmﬁmmmﬁsmﬁwme{wé@$
wﬁﬁi@q:mﬁmmﬁ@m@ﬁmﬁwﬁa%m A H g |




Question 2, f the topics given
one o
Write a letter Hindi of aPproxlm_gtely 120 words on any [7]

below: |
ot & @ it ue v ue R & e g o Rreal #  fafag i
T o O 311qd 7 Wi w7 et IR W w gHedl & HRU I A6

(i) I
&1 T § 1 e o7 quf fyeror 39 gU oo o o v v feRae |
mmmmﬂﬁéﬁ%mtﬁwmmw aifar 7 &g

(ii)
BT YT PR VR 1 (T 3 - Riftsees &) vl fer@any F e &1
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SECTION I [40 Mks.]
Q. 1] A] Fill in the blanks. [5]

1. A programming language has its own set of rules that is referred to as
2. In Excel addition of two or more text (string) value is called

3. depicts the colours, pattern and symbols assigned to a data series.
4. Formula can be entered either in : bar or in a cell for calculating values.
S.- Computer works with an interaction of and software.

B] Multiple choice questions. [15]

1. JAVA programming creates small application modules, which can be embedded into web
pages. These modules are called Applets that enable a user to interact with the web pages.
(a) bootstrap . (b) Applets
(c) Application software (d) Utility system

2. Which is the Valid formula? ;
(@=A+B2 (b) A2 + B2

(©)= A2+2B2 (d) =A2+B2
3. The loader is a small program that loads the Operating system into
" memory. : :
(a) bootstrap (b) BIOS
(c) RAM (d) AIX
4, 3 are mini charts that fit into a single worksheet cell to provide visual
" representation of the data.
(a) Pie charts (b) Area Charts
(c) Bar Charts (d) Sparklines charts
5 requires more RAM to run.
(a) GUI (b) CUI ~ (c) CLI (d) Interface
6. It generally displays three dimensions of data in the form of a disk plotted on an XY graph.
" (a) Bar Chart (b) Line Chart (c) Radar chart (d) Bubble Chart



o ; alculations.
) out calcu
are user-defined instructions that are used for ca(l;ir)ygfrmulas

(@) Data (b) Reference (¢) Functions
d the information

8. The built-in security of any O.S. protect the resources an

stored on a computer system from the unauthorised access.
(8) modules (b) data (c) IfTerface (d) code

9. Itdescribe the purpose and contents of the chart,

(b) Chart Title (c) Chart axis (d) Plot Area

(a) Legend
10. type of chart is widely used in statistical and engineering data.
(a) Line chart (b) XY (Scatter) Chart (c) Area chart (d) Pie chart
is a window within the chart area, which contains actual chart.
(d) Category axis

11.
(a) Legend (b) Plot area (c) Table

12. The operating system ensure that every process or application receives enough process time

to function properly, is known as ;
(a) Memory Management (b) Process Management
(c) Device Management (d) File Management

: are real world entities or items. It can be either non-living entities or

.

13.

hvmg entities.
(a) Objects (b) Class (c) Keywords (d) Applets
nt cells, ﬁress the key combination.
(d) Alt += (equal)

fl+F2 (O Cul+A

used to perform specific types of jobs.

software is
oS (c) Application (d) Utility

Bl

Bl




250 stadents 2%
d answer the given

Q. 3] A] School Coach surveyed
data. Observe the given chart a0

<2, How many studenfS 1 9
3 mhmmmemﬂﬁvommngﬁesnd@s-
. - [2]
B tion based guestions- i gheas
] P Imagin you are managing asmallbusi:msandhaweaspreaﬂshef“f“mhahs"Of
products. their prices. and the quantity sold. Which function you will use to calculate the
tomlml&sforachpmdndandmeovaaﬂtotalﬁlsforthemonth?

i Youateamdentmskedwithsdﬁng‘upa labforyomschool. The computer
hbwﬂlservesudensofaﬂglad&ﬁomelemenmytohighschool,andwillbeusedfor
yarious purposes, including research, - 5 and multimedia projects. Which
operaﬁngsystemyouwillchoomforﬁlelabandjustifyyourchoice.

C] Answer the following, ' I5]
b oL Wha!doyounmdexsmndbyﬂrtennPolymorphim‘?
. 2. Explain - Relative reference.

-3, What is a full form of BIOS¢.

4. Gw'ecxamplwofSingleuser&mulﬁ-taskingopemﬁngsystem.

‘5. Wlncthnswedforploiﬁngdatavaluwrelatedtostocksandshmes?

SECTION II (Attempt any 4 Questions) [40 Mks.]
Q. 4] Answer the following question. .
* 8) Wiite 0 enter a function in worksheet
T bject in JAVA, give one example with i 31
¢) Writes xample with its state and behaviour. [3]
in worksheet. g
2]

d) What is the d .
M and doughnut chart. (2 points each) 2]



Qs
] Allswer the given Question,

') Explain the given e

TT0rs of formulas, 3]
(a) #DIV/0! '
(b) #pauy
() #NAME?
. b) Name the different types of charts which can create in MS-Excel. [3]
©) Explain Absolute reference and give one example of it 2]
9 Define State & Behaviour of Object of JAVA programming, [2]
Q. 6] Write answer for the given question,
#8) Name the different types of Operating system 3]
b) Explain the different elements of formylas, 31
a) Reference b) Operators ¢) Constants
*¢) Differentiate between Functj

2]
dentifier b) Keywords 2]

. 8) Name different the functions of operating system, ' [3]
 b) Explain the given functions of Excel - : [31
i) SAVERAGE () ii) <CONCAT () iii) <PRODUCT()
«©) Differentiate between— Syst

em Software and Application software. (2 points each) [2]
of JAVA Programming: a) Token b) Constant 2]

) Define the basic concepts

term Source code and Object Code [2]
Y polymorphism and g1ve one example of it. [2]
0s. 21
jeen column chart and bar chart. (2 points each) 2]
n function keys -aF2  b)F11 - 2]
n and Encapsulation. 2]
1 GUL (2 each) [2].
mat the chart in MS-Excel. 2]
Operating system?

2]
PRODUCT () functions, 2]

AL XN Y Y YY)
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Question 1. Write a composition (250-300) words on any of the following: [10] /¢
“a. My Inspiring friend or family member
b. A book that Impacted your life.
. Role of technology in the fielq of education
d. Ilustrate the truth of a saying “You learn more from failure than from success “
e. Study the Picture given below. Write a story, description, or an account of what the
Picture Suggests you. Your composition may be about the subject of the picture or you

Inay take suggestions from it, however, there must be a clear connection between the
Picture and Your composition,

VV vy

v

Question 2. Select one of the following: [10] /703’ ?

a) Write a letter to the Police Officer to seek action against the blaring loudspeakers that haye
disturbed the studies and sleep of the residents _of your area, N :

b) Write a letter to your brother who has been falling ill very frequently. Advise him to engage in
outdoor activities and avoid playing too much of computer games.

Question 3. Rea& the passage given below and then answer the questions:- : [29] o¥X
Power foods are foods that provide rich levels of nutrients like fibre, po.tassmm and mmerz_ﬂs. Wuh
people becoming increasingly health conscious today, a lot of fitness trainers encourage' their Chmt:“
to include these foods in their daily diet to increase muscle deve].opme.nt. .There are varloust ways o
incorporating power foods in your daily diet. Of course, the key. to er.uo?'mg power f?ods ;‘s fi)rope;

preparation of these foods, the use of season-fresh foods, and identifying your choice of flavou

among power foods.




smoothie topped with cool yoghurt,
€ best source of catechins that are effective in halting oxidative
damage to cells. According to researchers at the Purdye University, adding a dash of lemop juice to

green tea makes the catechins €ven more easily absorbable by the body. So, the next time you have

unds of iced green tea with mint and lemon juice.

[51)s
1) Power food helps the people to increase development
a) calcium b) muscle ¢) bones
i) Nowadays the people are very much
a) Health-conscious - b) emotional ¢) relived
ii) The combination of chickpeas and iron is powerful source of
a) potassium b) iron c) vitamins
iii) compounds are found in onions and garlic.
a) sodium b) potassium c) sulphur
iv) Give one word used in the passage for: a lack or shortage
a) deficiency b) refuelling - c) halting
B) Answer the following questions based on the reading passage: s
1. What are power food§? b o, 2lin
2. What is the key to enjoy e power foods? i A i
3. What is the advantage of incluc!mg onions anfi garlic in our diet? {1] -
4. Suggest a quick recipe with chlckpt?a qnd omons.f g, 2
5. Why is yoghurt and bananas, an enriching pm;ver 00d? 2/,
6. Why is green tea a recommend?d. power food? e — o',
7. What is the advantage of combmg green tea wi i),
8. Name the diseases caused due iron deficiency.



9- lee One Wi

they eXercige, ge for the person who offer support and instruction to people as

10. in usj
0. Make 5 Sentence jp using the worq: Preserve
uesti i .
Questiop 4 a) Rewrite the following Sentences putting the indirect object before the direct
. object : g
.1) Riya gifted 5 Wwatch to her mother,

.I.l.))]?l‘]he Minister awardeg a trophy to the winning team,
iii

[1]

: : 31 (>
1) The lawyer knows

iii) Tell us

rect pl;xces: [41/ 1}

interestingly, amazingly, comfortably)
new collection of shoes fo

(ii) camy you around. ___ (jij) , they

We have an (i)

r all occasions, They are designed to

are (iv) priced too.

PPropriate form of adverbs given in the brackets: [5] { G
than any other ruler. (wisely)

d)Fill in the blanks with a
1) Akbar ruled his empire

1i) Among all the players who participated in the tourn
iii)He will do his work, (hardly)
iv) Of Rita and Neha, who lives
V) He rode the horse

ament, Ronnie played the - (good)

to the market? (near)
than the other knight. (swiftly)

Question 5.a) Underline the noun clauses and state the type:

151 (3 o5 Ly
1) Ihope that the experiment would be successful.
1) You should listen to what he is saying.

1ii) Where you went yesterday is still a mystery for us.
1v)Jack wants to know how many people are invited for the party.
v) He did not go for the movie thinking that it would rain very heavily.

b) Do as directed: B] (-

1) The Times is the most powerful newspaper in England, (Make it Positive)
if) Very few countries are as rich as America, (Make it Superlative)

iif)Akbar was one of the greatest kings, (Make it Comparative)

b) Tick the correct option:

2] (2
i) This is the happiest day of my life. (Make it Positive)

a) This was the happy day of my life.



b
) No other day is as happy as this of my life.
€) This is more happier than any other day of my life.

ii) Football is a popular sport. (Make it Comparative)
a) Football is more popular than any other sport.

b) Football is the most popular than any other sport.
51 6

c) Football is more popular in all.

d) Change the tenses of sentences as per the instructions:
(Make it Present Perfect Tense)

(complete) the work on time.
(go) for a movie this Sunday. (Make it Present Continuous Tense)

(show) us some amazing tricks. (Make it Simple Past Tense)

i) He

ii) The children

jii)The magician
iv) He (swim) for two hours. (Make it Future perfect continuous Tense)
v)Jenny (bake) a delicious cake. (Make it Past Perfect Tense)

31/3

Question 6. a) Rewrite the following sentences using Infinitive:

i) They were happy when they heard the good news.
i) She writes short stories and poems. It is her hobby.

jii)You can borrow the paint box. You need the artist’s permission.
21/

b) Revﬁ'ite the following sentences using Gerund:
i) He plays the guitar. It is his new hobby.

ii) She saw the injufed puppy. She rushed to pick it up.
c)Identify the underlined group of words are Phrase or Clause: B1{ 2

i) The cat hid under the table.

ii) Mona was studying when mother called her.
iii)He saw a boy who was wearmga black hat.
25y

d)Identify the given sentence as Finite or Non-Finite:

He wakes up early in the mormng

i)
ii)  She saw the dog sleeping in front of the house.
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SECTION I
(Attempt ALL questions from this section) .
Question 1:
Choose the correct answers to the questions from the given options.
(Do not copy the question, write the correct answers only) [15]
1. Martin Luther was Christian monk.

a Brtish b. French ¢ German . d. American

2.Modern age in India begins with the conquest of India by the .
a. Briish b. Portuguese c. French d. Maratha

3. Charactenistic features of Renaissance period are humanism, & industrialisation.
a. Rationalism b. Freedom c. Religion d. Revolution

4.Socialism was reaction to evils of

a. Imperium b. Capitalism c. Rationalism d. None of this
5. The first phase of industrial revolution was baedon .
a Agriculture b. Mechanization c. Colonization d. Slavery
6. Colonies where used as____of cheap material.
a Supplier b. Capital c. Buyer d. Market
7. The American war of independence was the first_____ political revolution in the world.

a. Most chaotic b.critical  c. organised d. all the above.



3
. ) 7oy 0y
———WVas chogen g5 commander of American (roops in war against the British,

3. Abraham Lincoln Napoleon Bonaparte ¢, George Washington d.Yoltzire

e
——_ become new emperor of France after French revolution.

& Louis the fifth b, Napoleon Bonaparte ¢. Martin Luther d, None of these,

- 10.Guiding principles of French revolution are Liberty,
~a Fratemity b, Socialism

equality and ’
¢.Freedom of religion d, Free will,

helped to spread the ideas of the Renaissance thinkers far

ting press b. Telegraph c. Telephone d. Letters

labour, matter of regional importance comes under

L list b, Statelist ¢, National list d. Union list.
itional head of Government of India.

rime minister  c¢. Vice president d. Governor.

es out his/her functions on advice of the

abha c. RajyaSabha d. Vidhan Sabha
%

features of the modern period. 21'

b 2V
4 -

b)secondary source material of modem period 2y2

L (P te in America send to Lancashire in London?  [2]¢ 2-
. | IES
21)
21/2




PART 11
SECTION A
!4 )
frempy any two Qquestions from this Section.

i) Contro} over the Executive
) Judicig) Functions.

11) The President
1i1) The Council of Ministers
Question 5

Supreme court is the highest judicial body in the country. In this context explain:

1) Onginal jurisdiction. [4]:0

11) Appellate jurisdiction Bl

1) Why it is called Guardian of Constitution. 3122
SECTION B

Attempt any three questions from this Section.

Question 6

The capture of Constantinople by the Ottoman Turks led to the beginnings of Renaissance in
Europe. With reference to this statement answer the following questions:
3]

i) How did it lead to revival of classical Greek and Roman learnings in Europe

(3]
ii) What effect did it have on trade? 2
:ili)) What effect did it have on Outlook and attitude of the people of Europe? 4]



Question 7

With reference to following points, explain the social effects of industrial revolution:

1) Social Inequality. 31/ %,
ii) Harsh living condition of workers, [4] ,.)
1ii) Exploitation of workers, 31/ )
Question 8

American war of independence was first organised political revolution in history of the world in

this context answer the following questions:

1) How was an American colony governed? Why were colonist resentful 313
ii) How did the American colonies differ from British? 381
i1i) Why did American colonist refuse to pay taxes impose by British parliament in London? Give

an account of Boston tea party incidence [41/v
Question 9 Look at the picture given and answer the following questions:

1) Identify the person given in picture, [11/
i1) Discuss his views on slavery. 2]/
iii) How did he define democracy. 31)q
iv) Why did he not want the southern States to secede? What did he do to prevent it? [41( ¢
Question 10
With reference to American civil war answer the following questions:
i) Explain briefly the nature and fundamental cause of the civil war. 13]
ii) Give brief account of the course of the civil war. 3]

iii) State positive and negative effect of the war 14]
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SECTION A
(Attempt all questions from thig section)
Question 1
Select the correct answers to the questions from the given options, [15]

1) Which of the following flowers mentioned below bear either the stamen or the pistil.
A) Cucumber B) Hibiscus C) Papaya D) Mustard
a) Only A b) Both B and D ¢) Only C d) Both A and C
1i) In a food chain, frog is eaten by the snake, Here, snake is called —
a) Primary consumer b) Secondary consumer ¢) Tertiary consumer d) Any of these
iii) In plants, pale spotted leaves occur due to the deficiency of -
a) iron b) manganese C) magnesium d) potassium

iv) The exchange of OXygen and carbon dioxide into and out of leaf cells takes place by -

a) Diffusion b) Osmosis ¢) Active transport d) Transpiration
v) Which of the following is produced by the ovaries (humans)?
a) Oestrogen b) Progesterone ¢) Testosterone d) Bothaand b

vi) Spongy pollen grains are a feature of flowers, pollinated by -
a) wind b) water ¢) insects d) all of these
vii) Which of the following statements is incorrect?
a) Organisms that reproduce asexually have identical offspring’s.
b) Plants obtain the energy for transport of substances through photosynthesis.
¢) The spinal cord controls the reflex actions.

d) Grasslands are an example of a self-sustaining unit.

%



Viij ;
) Whlch of the following is a rhizome?
8) Potato b) Ginger ¢) Radish d) Sweet potato
ix) Abhij cut the potato into sections as shown below. Which section(

§) will NOT
Produce new plants?

a)P b) Qand R ¢)Qand S d)P and R
X) Which of the following plants can be grown by the technique, in wh

inserted onto the lower part of another rooted plant?
a) mangoes

ich a stem from one plant is

b) roses

¢) lemons d) all of these
xi) Electrical messages are transmitted from one nerve cell to the other in direction.
a) two b) many ) one d) three
xii) Which of the following organism, does not feed on small fragments of dead materials?
a) slugs b) hyenas

c) earthworm
xiii) Refer the eXperiment given below. After a few days, which of

(a) A rise in level X and a drop in level Y (b) A drop in level X and a drop in level Y

(¢) Arise in level X and a rise in leve] N7

(d) A drop in level X and arise in Jeve] Y.
Xiv) In Amoeba, reproduction takes place by -

a) Multiple fission b) Binary fission ¢) Both a and b

d) None of these
xv) When we hear a noise, we turn our head in that direction. Here, noise represents -
a) the response b) the stimulus ¢) both response and stimulus  d) nope of these
Question 2 :
i) Name the following:

(5]

a) A relationship between two organisms such that one organism hunts down the other for food.

2




: ; . injuries.
b) The fluid which protects the brain from mechanical shocks and injurl

: oL, in humans.
c) The site where fertilization between the egg and the sperm 0CCUTS; v
d) Animals that feed on remains of dead animals.

e) The junction between two nerve cells.
ii) Choose the 0dd one out from the following terms and name the category to which the others
belong: 151
a) Hydrilla, Maize, Vallisneria, Pondweed
b) Stomata, Lenticel, Fibres, Cuticle
c) Plant, Lion, Human, Water
d) ANS, ATP, CNS, PNS
e) Leaf, Stem, Flower, Root
iii) Give reasons for the following. [5]
a) Injury to medulla causes death.
b) One organism may occupy positions in more than one food chain.
c) Transpiration helps in the upward movement of water.
d) The surface of cerebrum is folded.
e) The testes are the primary reproductive organs of the male body.
iv] State the exact location of the following structures. [4]
a) Xylem b) Cuticle c) Spinal cord d) Vas deferens
v] Complete the analogy.

[2]
a) Tapeworm and man : Parasitism : : Honey bee and flowers :
b) Sugarcane : Cutting : : Jasmine :
vi] Arrange the sets given below and rewrite each set in a correct logical sequence. [2]
a) Pericycle, Epidermis, Endodermis, Cortex, Root hair
b) Lions, Giraffes, Jackals, Leaves, Fungi
vii] Draw neat and labelled diagram of the following. [2]
a) Parts of a nerve cell
SECTION B
(Attempt any four questions Jirom this Section)
Question 3
i] State any two disadvantages of vegetative propagation. [2]
ii] Distinguish between cerebrum and cerebellum based on location and function, [2]



a) Identify the given figure and define it.

b) Represent the organisms shown in the figure in the form of 2 food chain.

¢) Name the organism that wil] have the least amount of the total energy available.

d) Rabbits receive only 10 % of the total energy available. Why?
iv] Define : Diffusion

Question 4 _
i] State the modes of reproduction and define them.
i] Slate d between axon and dendrite (function)

at] c%be ahy'two factors affecting transpiration, :

1) Dispersal of pollen grains and seeds of plants
2) Useful for domestic purposes

3) Favourable environment for bacteria to grow
4) Dwelling place for a lai-ge number of animals
5) Flowering and fruiting cycles of plants

[5]

(1]

[2]
[1]
B3]
[4]1



a) State the functj
; s it rl:;of the part labe]jeq as D and B respectively, A
; €
i) How s the brai Sent the parts of stamen and pistil respectively? 2
a ain and the Spinal ¢opq Protected?
i 3 :
.u) efine : a) Food chain b) Decom ul
1V) Differentiate between : i "
Question ¢

Stomata and Lentjce] (location and rate of transpiration)

i) Dj i i
) fferentiate between _ Biotic ang Abiotic components
€Xperiment

IS an ;
o al set up of a certain process. Study the same and answer

the following ques

a) Label part 1 in the figure.
b) Define the Pprocess occurring in the experimental set up.
c) State the reason for the difference in the water level observed in the figure.

iii) State the functions of - a) Urethra  b) Spores 2]
iv) Correct the false Statements.

B3]
a) A nerve is the structural and functional unit of the nervous system.

b) Consumers help keep the environment clean and bring about recycling of nutrients.
c) Spirogyra reproduces by binary fission.

Question 7
1) Observe the figure and write the given components of the food chain in the correct order. Also

write the components representing the prey and predator in the given food chain. Bl

LR

Mouse

i V -
J"&Ws‘!‘-ﬂ--;* SRS merists e g y

fvege i 2]
ii) State any two advantages of vegetative propagation.




\
3
1) Hoy, does transpiration help in — Cooling effect ang Water cycle? [2]
1V) Define a) Response b) Stimulys ¢) Pollination [3]
- Questiop 8 ’
i) Distingyjsh between: [4]
) Crania] nerves and Spina) nherves based op — 1) Origin 2) No. of pairs
b) Xylem ang Phloem using parameter - 1) Function 2) Main elements
ii) Study the given figure and answer the following Questions, 3]
A
C
k. formation b) Budding 2]
ples of organisms for each:  a) Spore form '

y‘g’?‘u A%
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PART I
(Attempt all the questions from this Section)
Question 1 [15]
Choose the correct answer to the questions from the given options,

(Do not copy the questions write the correct answers only)

1. means to treat somebody in a cruel and unfair way, especially because of their race

or religion.
a] Persecute  b] Concession

c] Prerogative d] Dispensation

is a narrow open passage that is dug through high ground for road, railway or

canal.
a] Col b] Gap c] Cutting  d] Hill

The process of leaving one country to go and live permanently in another country is known as

a] Immigration b] Demographic c] Population Density d] Emigration

is the North-west flowing river of Asia.
a] Syr-Darya b] Ganga c] Salween d] Lena

Migration people have the choice to either stay or move.

b] Forced c] Legal d] Illegal

i :

1



sent to somebody in order to pay for something.

& —_____means asum of money that is
Q] Repression b] Persecute €] Remittance d\] Debit
hunting and gathering.

9. Settlements are built by people engaged in
d] Dispersed

a] Permanent b] Linear ¢] Temporary

10. Urban areas generally have population density.
a] Lower b] Moderate c] Higher d] pointa & ¢

11. The Longest Strait of Asia is— ;
a] South China Sea b] Strait of Malacca c] Palk Strait d] Sunda strait

12. Which is the Deepest Sea of Asia?
] Andaman Sea b] Red Sea €] Arabian Sea d] South China Sea

has a narrow base, a bulging middle that reflects

13. The pyramid depicting
Jlow birth and death rates and a slight narrow apex.
@] Declining Population b] Constant Population C] Expanding Population d] Rising

Population.

14. The capital of Turkey is
a] Doha b] Muscat

c] Male d] Ankara

15. On the topographical map __~__is shown in black colour.
a] Dry Streams b] River c] Lake d] Settlements

Question 2 b
Give geographical reasons for the following.

1. The Plateau of Tibet is an inter-montane plateau.

2. Forced migration is an involuntary action.

3. The Pamir’s is known as the Pamir knot. Why?

4, The human settlements to a particular place can be temporary and permanent both.

5. Overpopulation is a very undesirable condition

Question 3
Observe the given maps and answer the following questions.

MAP READINNG
Refer the map of Asia and answer the following.

1. Name two countries through which the Tropic of Cancer passes.

2. What is the capital of Taiwan?
3. Name any two countries from the East Asia.
4. Which Sea is located in the Eastern direction of City Shanghai?

5. Name any two cities of Iran.

[51

[5]




. on th, . : . o
L. Pacific Ocean € Map of Ingdia by using the zppromriae Colors =

PARTII

(4 total of five questions 1, be attempted;

Question 4

1y

; i 2 a0t hw are they o= &r
Question 5 e

With reference to world Population answer the following questions.
1. What is Under Population and Iist in detail the Positive impaci of Undsr poociz=son 3
2. How does Immigration and emigration effect the population of a placs? E m__: i=nwsh B
€xample.
3. Give a detail note on the follgwing: -
a. Rural & urban composition of population. 2
b. Age and Sex composition of population. i 2
Question 6 »
With reference to Migration in world answer the following.
1. Describe the following in one sentence each: 21
a. Urban to rural migration
b. Free migration
¢. Rural to rural migration
2. Explain in brief any three push factors of Migration. Bl
3. A large number of Indians migrate to USA & other countries, what do think, is hrsin dsin
affecting the economic growth of the country? Mention two negative and one positive impect

of Brain Drain. =
Question 7 ‘ .
With reference to Location and regional divisions of Asia answer the following.
1. What is the location and extent of Asia? g I‘;]
2. Give a detail note on the Specialities’ of the Central Asia. Name any two countries of enal
Asia, _ . 3]
3. Describe the following: 4 i
a. East Asia [:]
b. North Asia 2



1EmEIltS a-[ld e:{plalxl »Vll Y tlle y ha‘ cw ell' knlt Communltles ) ‘3 l

With reference to physical features of Asia answer the following.
1. Asia has wide varieties of Mountain ranges; explain how these mountains are useful to us? [3]
2. There are many fertile river valley and plains in Asia, the earliest civilizations developed

along the river banks of Asia, why do you think this happened? B3]
*3. Write briefly about: :
a. The Arabian Plateau ; 0]
b. The Deccan Plateau. 2]
Question 10 : .+
With reference to Topographical Maps answer the following questions. =
is Tri ed Stations? : 2
;.‘ WhatWhat 1l: a sl?gfturl;tmber and where is it found on the Topo map?
3: Describe the following: - _ %

a. Contour Interval.
b. Spot height.
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